
README 
 
My tshark command is below: 
 
tshark  -o ip.defragment:TRUE -r pcap.file -R “sip && !sip.CSeq.method == OPTIONS && 
ip.src == 192.168.199.154 && udp.srcport == 5060” 
 
After running this command, tshark finds 0 packets in Linux.  
 
But in the wireshark when i unchecked the below preference from the IPv4 protocol, i see 
there are 10 packets. 
 

 
 
After unchecking the “Reassemble fragmented IPV4 datagrams” box as you can see 10 
packets seen in the wireshark but it does not work with tshark command on the linux. 
 

 


